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Aufgabe 3.1

(a) 55 · 58 = 513

(b) 37 · 34 = 311

Aufgabe 3.2

(a) 4 · 47 · 43 = 411

(b) 0.79 · 0.72 · 0.75 = 0.716

Aufgabe 3.3

(a) (−2)11 · (−2)17 = (−2)28 = 228

(b) (−3) · (−3)4 · (−3)6 = (−3)11 = −311

Aufgabe 3.4

(a) a5 · a2 = a7

(b) b9 · b14 = b23

Aufgabe 3.5

(a) x2 · x7 · x = x10

(b) y3 · y4 · y5 = y12

Aufgabe 3.6

(a) 5k · 53 = 5k+3

(b) 7n−3 · 74 = 7n+1

Aufgabe 3.7

(a) 24n−1 · 24n+1 = 28n

(b) 113n−4 · 112n+7 = 115n+3

Aufgabe 3.8

(a) zn+3 · z2n−1 = z3n+2

(b) t2k · tk−3 · t = t3k−2
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Aufgabe 3.9

(a) 37 : 34 = 33 = 27

(b) 12319 : 12314 = 1235

Aufgabe 3.10

(a) (−4)9 : (−4)5 = (−4)4 = 256

(b) (−25)8 : (−25) = (−25)7 = −257

Aufgabe 3.11

(a) 1114 : 110 = 1114

(b) 0.87147 : 0.87127 = 0.87120

Aufgabe 3.12

(a) 815 : 86 : 87 = 815−6−7 = 82 = 64

(b) (−2)9 : (−2)4 : (−2)2 = (−2)9−4−2 = (−2)3 = −8

Aufgabe 3.13

(a) p59 : p36 = p23

(b) u14 : u = u13

Aufgabe 3.14

(a) 7k+3 : 75 = 7k+3−5 = 7k−2

(b) 103k+1 : 102k−4 = 103k+1−(2k−4) = 10k+5

Aufgabe 3.15

(a) x7m+2 : x8+2m = x7m+2−(8+2m) = x5m−6

(b) c11k : c3k−4 : c2k+5 = c11k−(3k−4)−(2k+5) = c6k−1

Aufgabe 3.16

(a) (−1)5m−1 : (−1)3m−3 = (−1)5m−1−(3m−3) = (−1)2m+2 = 1 (2m+ 2 ist gerade)

(b) (−1)4m+7 : (−1)2m+6 = (−1)4m+7−(2m+6) = (−1)2m+1 = −1 (2m+ 1 ist ungerade)
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